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Class XII, Mathematics Worksheet- Inverse Trigonometry - 2 
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OBJECTIVE TYPE (1 Mark) 

Q.1.   𝑐𝑜𝑠−1 (𝑐𝑜𝑠
2𝜋

3
) +   𝑠𝑖𝑛−1 (𝑠𝑖𝑛

2𝜋

3
) = is                                                                                         CBSE 2011 

 
A 

4𝜋

3
 B 𝜋 C 

2𝜋

3
 D −𝜋 

Q.2. 𝑇ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑡𝑎𝑛−1√3 − 𝑐𝑜𝑡−1(−√3) is                                                                                    CBSE 2018 

 
A −

𝜋

2
 B 

𝜋

6
 C 

2𝜋

3
 D 0 

Q.3. 𝑇ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑡𝑎𝑛−1 [(sin (−
𝜋

2
))] is                                                                                             CBSE 2014 

 
A 

𝜋

4
 B 

0 𝐶 
−

𝜋

4
 D 

3𝜋

4
 

Q.4. 𝑡𝑎𝑛 [𝑠𝑖𝑛−1 3

5
+ 𝑡𝑎𝑛−1 3

4
] =                                                                                                                  CBSE 2020 

 
A 

7

24
 B 

24

7
 C 

3

2
 D 

3

4
 

Q.5.  𝐼𝑓 𝑡𝑎𝑛−1(√3) + 𝑐𝑜𝑡−1(𝑥) =
𝜋

2
, then x=                                                                                        CBSE 2010 

 
A 

1

√3
 B 

1

√2
 C 1 D √3 

Fill in the blanks(1mark) 

Q6.  𝑉𝑎𝑙𝑢𝑒 𝑜𝑓 [𝑡𝑎𝑛−1(1) +   𝑐𝑜𝑠−1 (−
1

2
)] =………….                                                                          CBSE 2013 

Q7.  𝑇ℎ𝑒 𝑝𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 (𝑐𝑜𝑠−1(𝑐𝑜𝑠
7𝜋

6
) =………..                                                                       CBSE 2011 

Q8.  
If 𝑠𝑖𝑛−1 (𝑠𝑖𝑛

3𝜋

5
) = __________.                                                                                                             CBSE 2013 
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Q9. 

 
If (𝑡𝑎𝑛−1 (

1

1+1×2
) + 𝑡𝑎𝑛−1 (

1

1+2×3
) + 𝑡𝑎𝑛−1 (

1

1+3×4
) + ⋯ . 𝑡𝑎𝑛−1 (

1

1+𝑥(𝑥+1)
)) = 𝑡𝑎𝑛−1𝜃 , 

𝑡ℎ𝑒𝑛 𝜃 =………….                                                                                                                                  CBSE 2015 

Q10. 𝐼𝑓 𝑡𝑎𝑛−1𝑥+2𝑐𝑜𝑡−1𝑥 =
2𝜋

3
 , then x = _________                                                                             CBSE 2014 

     VSA (1 mark ) 

Q11. Write the principal value of 𝑐𝑜𝑠−1(𝑐𝑜𝑠6800).                                                                            CBSE 2014 
 

Q12. 𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦: 𝑠𝑖𝑛−1[3𝑥 − 4𝑥3], − 
1

2
≤ 𝑥 ≤

1

2
                                                                                     CBSE 2018                              

Q13. 𝐼𝑓 𝑡𝑎𝑛−1𝑥+𝑡𝑎𝑛−1𝑦 =
𝜋

4
, 𝑥𝑦 < 1 𝑡ℎ𝑒𝑛 𝑤𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑥 + 𝑦 + 𝑥𝑦.                              CBSE 2019 

Q14. 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒:  𝑐𝑜𝑡−1 (
𝑥𝑦+1

𝑥−𝑦
) + 𝑐𝑜𝑡−1 (

𝑦𝑧+1

𝑦−𝑧
) + 𝑐𝑜𝑡−1 (

𝑧𝑥+1

𝑧−𝑥
) ,    0 < 𝑥𝑦, 𝑦𝑧, 𝑧𝑥.                        CBSE  2015 

Q15. 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒:  2𝑠𝑖𝑛−1 (
3

5
) − 𝑡𝑎𝑛−1 (

17

31
).                                                                                                CBSE 2014 

SECTION B (2 or 4marks) 

Q16. 𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥:   𝑠𝑖𝑛−1(4𝑥) + 𝑠𝑖𝑛−1(3𝑥) = −
𝜋

2
 .                                                                               CBSE 2020 

Q17. 𝑆𝑜𝑙𝑣𝑒:   𝑡𝑎𝑛−1(4𝑥) + 𝑡𝑎𝑛−1(6𝑥) =
𝜋

4
 .                                                                                             CBSE 2019 

Q18. Prove: 𝑠𝑖𝑛−1 4

5
+  𝑡𝑎𝑛−1 5

12
+ 𝑐𝑜𝑠−1 63

65
=  

𝜋

2
.                                                                                    CBSE 2019 

Q19. Solve for x : 𝑠𝑖𝑛−1 5

𝑥
+ 𝑠𝑖𝑛−1 12

𝑥
=

𝜋

 2
, 𝑥 > 0.                                                                                     CBSE 2020 

Q20. Prove: 𝑡𝑎𝑛−1 1

4
+ 𝑡𝑎𝑛−1 2

9
=

1

2
𝑠𝑖𝑛−1 4

5
.                                                                                               CBSE 2020 

 

ANSWERS TO BE UPLOADED ON 7TH MAY 2020. 
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